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General Instructions :
(i) Please read the instructions carefully.
(ii) This question paper consists of 24 questions in two Sections : Section A and
Section B.
(iii)  Section A has Objective Type Questions, whereas Section B contains Subjective
Type Questions.
(iv)]  Out of the given (6 + 18) = 24 questions, a candidate has to answer
(6 + 11) = 17 questions in the allotted (maximum) time of 3 hours.
) All questions of a particular section must be attempted in the correct order.
(vi)  Section A : Objective Type Questions (30 marks) :
(a) This section has 6 questions.
(b) There is no negative marking.
(c) Do as per the instructions given.
(d)  Marks allotted are mentioned against each question/part.
(vii)  Section B : Subjective Type Questions (30 marks) :
(a) This section has 18 questions.
(b) A candidate has to do 11 questions.
(c) Do as per the instructions given.

(d)  Marks allotted are mentioned against each question/part.

SECTION A
(Objective type questions) (30 Marks)
1.  Answer any 4 out of the given 6 questions on Employability Skills. 4x1=4
(1) PowerPoint is a presentation software which belongs to :
(A) Apple (B) Google
(C) Microsoft Office (D) OpenOffice

(i1))  Five Factor Model (FFM) is applicable in :
(A) Stress management (B) Personality
(C) Motivation (D) Positive attitude
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(i) e # & H-81 Teh oI o1 AT 7E & 2

(A)  HNUTTCH (B) S¥ETEh
(C)  famrwor (D) foemanfaees
(iv) SMART % Gfafed &9 # 78R ‘R’ FT T AL 2 2
(A) AR TIH (Realistic) (B) TEEH A (Recognizable)
(C)  ehETd (Rational) (D) 3T¥aEd (Reassure)
(v) e ITH ST AT & HAAT 2, IR Y07 LT & FAN I HATH AT Hi
(A)  dehfiht et (B) Hrafires seft
(C)  TR-aa-ieht STt (D) U 3Tt
(vi) e o fafed shsfere o Termam fore o 5 g3 off 2
(A) 2000 (B) 2002
(C) 2001 (D) 2003
2. fewww 7 ywai g @ i 5 o s difsme | 5x1=5
(i) e Udt T SMUR T2 2
(A) T TC TS 6T U (B) % FLAN
(C) AT HIUL (D) 3ot WIS T Y&
(i) ISToR HaTer ot ST fohd ST 3 oo | foram ST @ 2
(A) USISt (B) Tt
(C) 3T IR (D) S 3R FHHR
(iii) %= ohed, s, o0 @ s, it o g9 vehrg TS et €
(A)  Afa (B) uIfret
© dfaa (D) Sferg
(iv)  ToRE SRR o TTET STET W W1 S SATIeTIed MY hld & 2
(A) EHAMR 3edTE (B) gfren3care
(C)  =EicH 3IcUTE (D) TS IR
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(ii1))  Which one of the following is noft a kind of sentence ?

(A) Declarative (B) Interrogative

(C) Interjective (D) Exclamatory
(iv)  In the acronym SMART, the letter ‘R’ stands for :

(A) Realistic (B) Recognizable

(C) Rational (D) Reassure

(v)  An entrepreneur who starts a business, nurtures it and makes it reach a

point of self-sustenance is a :
(A) Technical entrepreneur (B) Industrial entrepreneur
(C) Non-technical entrepreneur (D) Professional entrepreneur

(vi)  The Indian Green Building Council was founded in the year :

(A) 2000 (B) 2002
(©) 2001 (D) 2003
2.  Answer any 5 out of the given 7 questions. SxI=5

(1) The base ingredient of yellow gravy is :

(A) Fried onion paste (B) Chopped onions

(C)  Onion paste (D) Boiled onion paste
(i)  Bhojwar masala is used in which region’s cuisine ?

(A) Punjab (B) Bengal

(C) Andhra Pradesh (D) Jammu and Kashmir

(i) The vegetable preparation made with raw bananas, drumsticks, beans,

cooked in coconut milk is :

(A) Avial (B) Poriyal
(C) Variyal (D) Undhiyu
(iv)  On which type of food products do fast food outlets rely upon heavily ?
(A) Contemporary products (B) Convenience products
(C) Functional products (D) Fresh products
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(v) B iy 8 ehist s e fore wepr oht =it T o a1gTe & 2
(A) S (B) =4
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. T8 () T SET
2. fowm (i) |
3. TSI o ugeEt (ili) WRMT
4. IHTER (iv) BT
HEl ferehed T ;
(A)  1-(1), 2-(ii), 3-(iii), 4-(v)  (B) 1-(iv), 2-(ii), 3-(i), 4-(iii)
(C)  1-(iv), 2-(1), 3-(ii), 4-(iii) (D) 1-(iii), 2-(ii), 3-(iv), 4-(Q)
(vil) =T & S T HAS RS 2
A) fEF st (eE) (B) fea = =ism
(C) el st udg (D) 9IS 1 IS
feu e 7 yeAi 6 @ ol 6 o S T |
() = @ H fomr @, fomr otegq, #ETet SR ATREE o | o[| T g3 =4
2
(A)  HTREl (B) feerd
(€) A (D) =EA
(i) AL ST IREET G H = §
(a) At (e (B) =TT (BTSferersh)
(C) TE-HE (D) o e
(iii) T TS h1 & e © -
a) fow (B) Hed
(C) o= () (D) Heedt
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v) While making cookies with spread method, which type of sugar increases

spread ?

(A) Fine sugar (B) Cube sugar

(C) Confectionery sugar (D) Granulated sugar
(vi)  Match the following :

1. Jaggery (1) Flavouring

2. Pistachio (1) Garnishing

3. Rose petals (i) Cooking medium

4.  Desi ghee (iv) Sweetening

Choose the correct option :

(A)  1-(1), 2-(i1), 3-(iii), 4-(iv)
(B)  1-(iv), 2-(ii), 3-(i), 4-(iii)
(©)  1-(iv), 2-(1), 3-(i1), 4-(iii)
(D) 1-(iii), 2-(ii), 3-(iv), 4-(1)

(vii)  Plat du jour is also known as :

(A) Dessert of the day (B) Dish of the day
(C)  Chef’s choice (D) Dish of the week
3.  Answer any 6 out of the given 7 questions. 6x1=6
(1) It is a no onion, no garlic, stir fried chick-pea with spices and coconut :
(A) Fafda (B) Chikvi
(C) Chhena Poda (D) Chana Sundal

(i)  The menus which are prevalent in transport catering are :
(A) Fixed menu (B) Cyclic menu
(C) A lacarte (D) Table d’hote
(i)  The major ingredient of Tabak Maaz is :
(A) Chicken (B) Mutton
(C) Lamb (D) Fish
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(iv)  Chopped onions and tomatoes form the base of which gravy ?
(A) Brown gravy
(B) Yellow gravy
(C) Makhani gravy

(D) White gravy
(v) A kind of wild caper berry from Rajasthan is :
(A) Ver (B) Ker
(C) Sangri (D) Kachri
(vi)  Which of the following is not a good food habit ?
(A) Including serving of salad
(B) Including seasonal vegetables
(C) Including curd and buttermilk

(D) Including saturated fats

(vii) L.T.C. stands for :
(A) Leave Travel Commission
(B) Labour Travel Concession
(C) Leave Travel Concession

(D) Labour Transport Commission

4.  Answer any 5 out of the given 6 questions. SxI=5
(1) It is a traditional Marathi sweet and spicy snack :
(A) Bhakarwadi (B) Dhokla
(C) Khakra (D) Dosa
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[ofis3
(1)  The cost of vegetables is a/an :
(A) Fixed cost (B) Direct material cost
(C) Indirect material cost (D) Semi-variable cost

(i)  For growth, bacteria does not require :

(A)  Warmth
(B)  Food
(©) Air

(D)  Moisture

(iv)  The state which is the home of the famous Murrah buffalo is :
(A) Punjab (B) Haryana
(C) Uttar Pradesh (D) Gujarat

v) The favourite sweet of Lord Jagannath which means burnt cheese is :
(A) Chhena Poda (B) Chhena Murki
(C) Chhena Jalebi (D) Chhena Pahala

(vi)  To permit shortening to function properly, it must be :
(A) Hard in texture

(B) Inliquid form
(C) Too hard in cold weather and too soft in hot weather

(D)  Uniformly distributed in the dough

5.  Answer any 5 out of the given 6 questions. SxI1=5
(1) Choose the incorrect pair :
(A) Gathiya : Gram flour
(B) Khaman : Rice and chickpea
(C) Poha . Pressed rice
(D) Misal Pav . Moth beans
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(i) A person harbouring food poisoning bacterium in the intestinal tract is

called :

(A) Inhibitor
(B) Server
(C) Carrier

(D) Activator

(ii1))  Kullu Dussehra is a famous festival from :
(A) Himachal Pradesh (B) Andhra Pradesh
(C) Tamil Nadu (D) Uttar Pradesh

(iv)  Small packets made with rice flour dough with a sweet filling and steamed

in banana leaves :
(A) Modak (B) Pooran poli
(C) Basundi (D) Ada

(v) In context of plating of food, which of the following statements is

incorrect ?

(A) Decide on one element to give visual height.
(B) Consider main dish and its portion size.

(C) Portion size of accompaniment can be ignored.
(D) Too much or too little food is avoided.

(vi)  For preparation of sohan papdi, sugar must be cooked till :

(A) Firm ball stage (B) Soft ball stage
(C) Hard ball stage (D) Tough ball stage
6. Answer any 5§ out of the given 6 questions. SxI=5

(1) From the following, which is not a type of Vada ?
(A) Udipi Vada (B) Medu Vada
(C) RavaVada (D) Uddina Vada
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(i) ST UH o B S o AT TS ol T o :
(A)  omarfeTd
(B)  omiftE
(C) gHMR
(D) oIy
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(A) G
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(D) g

(iv) 3G Had O SYUT ST TahdT §
(A) e
(B) e (i)
(C) hieAmEh
(D) 9T (W)

(v) O UREH H SEIEI foRaT ST STe HioT i aTell TSie & ;
(A) it
B) T
(C) T HWE
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(A) S
(B) @l
(C) =EeH
(D) "X
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(ii)

(iii)

(iv)

)

(vi)

The name of fast food commercial establishment of Ancient Rome was :
(A) Thermopodium

(B) Thramis

(C) Thermostat

(D) Thermopolium

Dried dumplings made from a mix of dal and spices, sundried and stored
is

(A) Sangri
(B) Kachri
(C) Mangodi
(D) Papad

Blindness can be caused by the consumption of :

(A) Copper
(B) Zinc

(C) Pesticide
(D) Mercury

Sweetening agent used in Paruppu payasam is :
(A) Sugar

(B) Jaggery

(C) Sugarcane Juice

(D) Brown Sugar

Identify the fresh herb :
(A) Arugula

(B) Mustard

(C) Chives

(D) Peas
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SECTION B
(Subjective Type Questions) (30 Marks)
Answer any 3 out of the given 5 questions on Employability Skills. Answer each question
in 20 — 30 words. 3Ix2=6
7.  Startups require huge investment. Is it true ? Also write the ideas on which Startups
thrive.
8.  Write two important points to be considered while writing a paragraph.
Minimizing waste is an important aspect for saving our environment. List some
ways for minimizing waste.
10. What are the steps to sort the data ?
11. List four ways to maintain a positive outlook.
Answer any 3 out of the given 5 questions in 20 — 30 words each. 3x2=6
12. Differentiate between Khaman and Dhokla.
13. What is the base of Kadhai gravy ? Also give two precautions to be taken while
making Kadhai gravy.
14. Explain the following :
(a) Bhapa doi (b) Patishapta
15. How is Fixed menu different from Cyclic menu ?
16. Define the term Cross contamination. Also give two ways through which cross
contamination takes place.
Answer any 2 out of the given 3 questions in 30 — 50 words each. 2%x3=6
17. Enumerate the types of material cost with suitable examples.
18. Write about the following :
(a) Dal Bafla
(b) Malpua
(c) Bhutte ka kees
19. (a) How are dust and dirt responsible for contamination ?

(b) Also write two ways to prevent contamination by dust and dirt.
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20.

21.

22,

23.

24.
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frfoafaa o it sy :
(F) T STHART IR e HGH

(@) SHIeRRT FelTel SR L 6 Fallel §
Frrfeiiaa STHeRl X'YZ €ieet sht Jedehi @ STed shi TS 2 |

#H AT SR I AT TfRTd 3 T0MT HIST |

ey T

A forsht 1,75,000
EERUC R 60,000
SRS 3,000
ferfepea sfagfd 5,000
ST | FRTEH 2,500
ECI RSN 30,000
UL AN 20,000
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Answer any 3 out of the given 5 questions in 50 — 80 words each.

20.

21.

22,

23.

24,

Compare any four advantages and four disadvantages of convenience foods.

Enlist any four factors which contribute to soft and crispy cookies.
Discuss any four points to be kept in mind while planning a menu.

Differentiate between the following :

(a) Dal Amritsari and Dal Makhani
(b) Kakori Kebab and Murar ke Kebab

The following information has been obtained from the books of XYZ Hotel.

Calculate the Labour cost and Net profit percentage :

Receipts T

Total Sales 1,75,000
Wages and Salaries 60,000
L.T.C 3,000
Medical reimbursement 5,000
Contribution towards E.P.F. 2,500
Food costs 30,000
Overhead costs 20,000
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